gain loss [db] gain loss [db] gain loss [db] gain loss [db]

gain loss [db]

11mar20 gain loss from dish errors(<5cm) vs x,y and lambda. Y= 400 ft
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11mar20 gain loss from dish errors(<1.2cm) vs x,y and lambda. Y= 400 ft
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Gainincrease [db] Gainincrease [db] Gainincrease [db] Gainincrease [db]

Gainincrease [db]

3.0
25

2.0
1.5
1.0

0.5
0.0

3.0
25

2.0
1.5
1.0

0.5
0.0

3.0
25

2.0
1.5
1.0

0.5
0.0

3.0
25

2.0
1.5
1.0

0.5
0.0

3.0
25

2.0
1.5
1.0

0.5
0.0

(Gain<5cmErr)/(Gain<1.2cmErr). Y= 400 ft

X ft [west,east]

Y= 200 ft

= 21 0cm  Errs >1.2cm set to 2.2mm rms noise 3

= 12.6cm =

%: 6.0 cm E

= 3.0 cm E
-400 -200 0 200 400

N
ZON
N
X&Z
v

-400

-200

0
X ft [west,east]

Y= Oft

400

X ft [west,east]

Y= -200 ft
R E
E e E
g b E
-400
X ft [west,east]
Y= -400 ft
= X— * X v X 3
S X K K K E
-400 -200 0 200 400

X ft [west,east]



